## **Apartment in Siggiewi**



Reference No: 240151118-118

#### Siggiewi, Central



€295,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m<sup>2</sup>): 110

Bedrooms: 3

### **Apartment - For Sale - Siggiewi**

Siggiewi. Good opportunity to acquire a first floor apartment in a prestigious new development located in a quiet area close to the centre and to all amenities. Accommodation comprises an open plan kitchen/dining/living room, three bedrooms, a main bathroom, shower en-suite and two balconies. Property is being offered freehold and finished including internal doors; but excluding bathrooms. A choice of optional garages is available.

### **Features**

✓ Lift

En Suite

Double Glazed

Ceramic Floor

PVC Piping

✓ Pool

#### Rooms

✓ Double Bedroom : 3.5 x 4.8 m (16.8 m2)

Double Bedroom: 3.6 x 3.5 m (12.6 m2)

Kitchen/Living/Dining: 9.9 x 4.5 m (44.55 m2)

Shower Ensuite : 1.5 x 3.5 m (5.25 m2)

Double Bedroom : 3.6 x 3.5 m (12.6 m2)

✓ Bathroom : 2.9 x 2 m (5.8 m2)

# **Gallery**

















Anthony Portelli RE/MAX Edge - Attard

M: 79463278

E: anthonyp@remax.com.mt

T: 21480164

#### RE/MAX Edge - Attard

4Triq Antonio Schembri, Attard, Malta